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g 2015-2-10) :,JE\%WGF% 65 240 mg/m’ f2 -
HS 1S 2015-2-10 jiﬂflﬁﬁm 7 400 mg/Nm® = -
2015-2-10  —4UkiR 8 400 mg/Nm? 2 -
2015-2-100 —44kLiR 5 400 mg/Nm? 2 -
2015-2-10] &AL 157 240 mg/m’® B2 -
0235 2015-2-10) %iﬂt% 158 240 mg/m? P —
L 2015-2-10 ’*f‘i”{% 158 240 mg/m’® % -
S 2015-2-10] &4k 7 400 mg/Nm® it -
2015-2-100  —44kLiR 8 400 mg/Nm? = -
2015-2-100  —44kLiR 7 400 mg/Nm? 2 -
o015-9-1 AR 47 900 mg/m’® B2 -
03CO% AEY 17 400 mg/m’ = -
(= looi5-9-1 AR 47 900 mg/m’® B2 -
) HE REMY 16 400 mg/m’ s -
e 9015-2-1 AR 49 900 mg/m’® & -
BED 17 400 mg/m’ P -
A oy R A 61 900 mg/m’® & -
ogg;n 2015721 %\%MZJ 19 400 mg/m’* ;Zé -
(= |2015-2-1 ;imm 63 900 mg/m’ 2 -
e :/;i\%)ﬂc%j 20 400 mg/mz i -
=15 |2015-2-1 ;imm 62 900 mg/m A2 -
AEMY 18 400 mg/m* I -
9015-2—1 AR 117 960 mg/m’ B -
05t fit BED 3 240 mg/m’ 5 -
A 9015-9-1 A 115 960 mg/m’ 7z -
fedHE BED 4 240 mg/m’* I -
A 9015-9-1 A AR 117 960 mg/m’* & -
RELD 4 240 mg/m’ pas -
. 2015-2-10 F&EHY) 34 400 mg/Ni® it -
;2@ 06i%E4E [2015-2-10) g%@c% 34 400 mg /N ;‘:? —
R A E%{ébq 2015-2-10) §\§1Jc¢§ 34 400 mg /N> 2 -
AL %%g}iflk 2015-2-10) if“%@;“ 27 500 mg/Nm? f2 -
woa | 2015-2-10) jzriwmm 29 500 mg/Nm? 2 -
2015-2-10 A4k 27 500 mg /Nm? B -
2015-2-10] Z AL 6 400 mg/Nm? & -
075 |2015-2-10 ALY 5 400 mg /Nm? B -
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o 12015-2-100 AAMY) 6 400 mg /Nm? 5 -
PHES |2015-2-100 —44LER <1 500 mg/Nm? B -
A |2015-2-100 —4ALER <1 500 mg/Nm? 5 -
2015-2-100 A4k <1 500 mg /N’ 2 -
2015-2-10] ZE ALY 25 400 mg/Nm? 5 -
08I 2015-2-10 %’fm% 27 400 mg /Nm? ;:% -
s 2015-2-10) :j‘i\iLHQfF% 26 400 mg /Nm? B2 -
. 2015-2-10 %S4k 6 500 mg/Nm® 2 —
2015-2-100 —4ALE% 5 500 mg /Nm? B -
2015-2-100 %A A4bh 6 500 mg /N’ 2= -
2015-2-10] Z ALY 22 400 mg/Nm? 5 -
09Uk 2015-2-10) %‘@W 21 400 mg /Nm? ;E -
e 2015-2-10) §\§1t#§ 20 400 mg/Nm® s —
HE 2015-2-10) jfﬁﬂjﬁﬁ)m 156 500 mg/Nm? 2 —
2015-2-100 4 A4LER 153 500 mg /Nm? 2= -
2015-2-100  —44kiR 154 500 mg/Nm? = -
2015-2-100 &AW 55 400 mg/Nm? = -
1004 [2015-2-100 A4 57 400 mg/Nm? B -
1#Mm#A [2015-2-100 S 56 400 mg/Nm? = -
PHER [2015-2-100  —4U40ER 3 500 mg/Nm? 2 -
i |2015-2-100 —4ALER 3 500 mg/Nm? 2= -
2015-2-100  —44kiR 3 500 mg/Nm? 2 —
2015-2-100 AW 22 400 mg/Nm? = -
1A [2015-2-100 A4y 24 400 mg/Nm? B -
28N [2015-2-100 E&EALD) 24 400 mg/Nm? = -
PHER [2015-2-100  —4U40TR <1 500 mg/Nm? 2 -
@ [2015-2-100 —44LHR <1 500 mg /Nm? B -
2015-2-100 & 4kiR 1 500 mg/Nm? B -
JH R 62. 8 80 mg/m? = —
. H
ﬁﬂi%?% 0. 0092 1 mg/m? & -
NN
e | s \élﬁ\zﬁ& 0.032 4 mg/m? 2 -
N B e ey
TKIH H R B 2015-3-13 4 ALi% 112.9 300 mg/m’ s -
= AENY 261. 6 500 mg/m* = -
A% 2 1 1 % = -
ALY <0. 06 7 mg/m? 72 —
LA 1.3 70 mg/m’ = -
k% iR % 0.14 45 mg/m’ = -
[ HE MR 5.9 120 mg/m’ = -
HEENAE A | O1HIEEN JHZR 46 200 mg/m’ 2 -
BRIRIX | 7K b | AR [2015-2-5 [ 440k 189 900 mg/m’ pas -
HBEDiAE | 7K iR AEY 145 - mg/m’ - -




